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—12081& HMel X =cl 50,0003 +2CH=12& 1,200
202 O4Hl 6,000 6,000
01 =Yl 6,000 6,000
O12021 D10 SRFA 20,000& = 398 = 100 6,000
206 T2l 69,600 69,600
01 M=H| 69,600 69,600
OAsdEZI +¢ 25,000
— M XA 60,000& * 200K 12,000
—&XA RUE 40,0002 * 2004 8,000
—EANE RUE 1,000,000& * 50 5,000
OZFNE AUE I 25,000& * 1,000 25,000
OSJI7 2 (HaUE) 10,000& * 300K 3,000
O8I+ mol= 4,000& * 50004 2,000
OZAE Jtzs #¢ 9,000
—QtED| 25,000& * 2000H 5,000
—gQ 20,000& * 200K 4,000
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MEUAISHSY el &
SN - EB-ER(BN) - MR - BES Lo e 52
ocvdad =g 1,000& = 3,000m 3,000
opve e 2 800& * 2,000m 1,600
o224 37 7Y 1,000,000& 1,000
401 AlEHI LRI 344,000 339,000 5,000
01 Al&HI 344,000 339,000 5,000
OI2S EXNAY 240,000
—sZ8 28 €1 240,000
- N=¢ 2,500,000% * 305 75,000
=2 & 1,500,000 * 705 105,000
CAE 2L (128) 60,000,000 60,000
OsZ&gitEgs A& 34,000
—SZTEINHES NERX 10,000,000 10,000
—III2S(EAS)HSFHE] 160,000 = 1504 24,000
OEANMEIZS AERA 10,000,000 10,000
OZ2S(EAS)HEENE & 25 9,000& * 5,5004 49,500
Otz SeHA2AANAY 2= 10,500,000 10,500
AESAI RS 208,666 205,362 3,304
= 18,935
< 19,328
= 170,403
AESAE 2CIUIOIE X3 AHE 41,118 36,096 5,022
= 15,235
= 7,618
= 18,265
101 Q1A H] 41,118 36,096 5,022
= 15,235
= 7,618
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JECIEES

i
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P
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SN B EP(EH) - HIRAN -

>
12

2 (A
R
J2H

==

Ol

= 18,265
04 JAH22NELS 41,118 36,096 5,022
OX=ZA LIHI0IEl =20/ 1A 35,268,0002 35,268
2 15,235
= 7.618
2 12,415
ORCIHIOIH E=2 3,000,000 3,000
o4EEz 2,850,000 2,850
ASAHE 2 25,086 19,296 5,740
201 Lo 13,086 13,396 360
01 AtRZell 7.5% 7.5% 0
OYer+2H| 7,59
~NAZAME AREE L AR A 1,000,000 1,000
—MYDIZE Y HACD 7Y 50,0008 * 122 600
— ™| A 20,0008 * 128 240
— SR Al sEty A 13,0008 * 470 * 12 624
— 5= PY 8,0008! * 202 * 23 320
— HIE{ & 3l 100,0008! * 12 1,200
—Nea=z 12,0008 * 22 * 128 288
—KRZAME AT 10,0008! * 100 1,000
~TAZAME HARHI22(2AD]Q 45 1,000,000%! 1,000
—NZAME SOAHIAIAL E 1,320,000 1,320
02 =zl 5,444 5,804 360
O=zZe2 ¥ HA 4,244
—HIIANBE 200,0002 * 128 2,400
— M3 X HaH 100,0002 * 13| 100




S FRIME D
=R R E N
Sol: GEEA TS chol 7 2
_ - HEc -
SH - EB - S(BH) - MBAY - BES arey Siate ==ET
-EEE] 50,0009 « 2CH * 12 1,200
P EI== 50,0008 * 23 100
—TVREHEE 7,0002 * 128 84
— 4o+ EASE 30,0008 * 122 360
L= 1,200
— ol 2| 300,000 * 42 1,200
401 Al HIL2OHY] 10,000 3,000 7,000
01 A& 10,000 3,000 7,000
OXEEAME KBS+ R+ 10,000, 0002 10,000
405 THaHE S| 2,000 1,900 100
01 Xtard 223 S| 2,000 1,900 100
Ot ZAHME WD A 2,000,0008 2,000
NHEEA BEE KA 10,192 12,750 12,558
= 3,700
= 1,110
= 5,382
307 BI2t0|H 10,192 12,750 12,558
= 3,700
= 1,110
= 5,382
06 283 10,192 12,750 A2,558
OXFRIZ AR Ao 28 3 (8,5008) 10,192,000 10,192
= 3,700
= 1,110
= 5,382
A X8 21,200 21,200 0
= 10,600
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1,200
1,200

1,100
2,900

H3r
il
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3,600
3,600
300
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20,000

13,800
12,000

=
(e}

<J

1,500
2,000
2,000
4,800
4,800
2,400
2,400

300

300

300

20,000
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14,900
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o
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2« ALY
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1,500,000

[uind

2w 42 x4

[uind
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3
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2 3
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2l %

2,000,000&

100,000& = 10& = 23
5,000& = 400

500,000& = 23
1,000,000
300,000
100,000

5,000& 400
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=L HE RS
Sl RREARI TRt RS SEREL
_ PSREN= =
SERI(BI) - HRAY - BES Ofl AF o4 01l o ot =2
201 Let2d| 11,000 13,400 A2,400
01 AR 22| 4,900 4,900 0
Oget=EZH| 4,900
—0ISHEXE 225 2¢ 200,000& = 12& 2,400
—OISNENE 282 ¥ 248 2,500
02 =224l 6,100 8,500 22,400
ozzez ¥ 100
—OISHEXY BANLRLS 100
OXtee gl 6,000
—OlSME XS SFUH 300,000& = 12& 3,600
—OISHEXY HBRNLH 200,0002 * 122 2,400
JNR=:RRIDN E=ga 4,642,650 3,602,846 1,039,804
= 342,270
= 4,300,380
2 K& 2,473,917 2,314,319 159,598
FSHAHMLA 502,720 504,720 A 2,000
201 gt 1,120 1,120 0
01 A2 1,120 1,120 0
o= 1,120
- 70,000 * 4H « 43| 1,120
202 O4Hl 1,600 3,600 A2,000
01 =Y 1,600 3,600 A 2,000
Ou 1,600
308 AtXI 500,000 500,000 0
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S F0IMEX R
PSRN o= REI DV E=Fay
el DRALIN (el Hg)
SA-EHH .S (BH) - HBAY - B2 Ol AF o4 &%Ei HRS2
06 UJI|I20UstExZ 500,000 500,000 0
O uNEHHINNE BX3 500,000, 000& 500,000
gs SN2AXHA 660,000 700,000 A 40,000
308 NAXHMSOIH 660,000 700,000 40,000
06 I UstExZ2 660,000 700,000 A40,000
O=F1DEstn 2tits 29X (18J11w) 200,000,000 200,000
OxSsty gis X (6M ) 120,000,000 120,000
OHEx=SsN SHNEMdH2Y K& 340,000,000 340,000
SIgmE=ENPNE-] 1,011,197 809,599 201,598
201 B4 | 1,680 1,680 0
01 At 22l 1,680 1,680 0
o2gs4 1,680
— St ZAXE Ao 70,000& = 124 = 23| 1,680
308 XXIEHHSOIN 1,009,517 807,919 201,598
06 I st2x=2 1,009,517 807,919 201,598
Ostn Z24H| XI2(5,8259) 909,279,000 909,279
ORIEd Mxpon X 2(7,4259H) 100,238,000& 100,238
st E2g X3 300,000 300,000 0
306 =2 300,000 300,000 0
01 4932 300,000 300,000 0
O&#YEZ 2NMsHd SN =23 300,000, 000& 300,000
AZ2HNEERSY 2,132,705 1,193,671 939,034
= 342,270
o 1,790,435
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Ol &t
M NG s4
ool RO NRETLY (=S L
SN SRI(BH) - MRAY - BES 0] &k o8 e Hl =2
10 EALAHIE A= 1,000 1,900 A 900
OLu=22A 238 50,000& * 20 * 13 1,000
D=0l Rl Xl 387,200 387,200 0
308 XX HHSO0IA 387,200 387,200 0
06 WEI|I20USEXS 387,200 387,200 0
Olwel=el W AH(E=A, 4U2E, 823 S) 37,300,000& » 8% 298,400
OnWel=0el wa A2YHI(FHY], =2, 820, ME=HIS) 11,100,000& 8% 88,800
SMESALY =& 868,915 772,381 96,534
= 342,270
= 526,645
308 MXIHHMSOIA 868,915 772,381 96,534
& 342,270
= 526,645
06 WEI|20UeE2E= 868,915 772,381 96,534
OguMEsrE 24 544,513
—HQOHMEHI A= 2Z A BIXI(5Y) 187,000,000& 187,000
—AOMEHZ 2e|nA S BHXI(2Y) 47,643,000 47,643
—JoMEEE 2 309,870,000& 309,870
= 223,870
= 86,000
OAROIH 2120 sfsdH 29 324,402
—AOIH 220 SSHE 2A=020 ZAHXI (4Y) 172,777,000& 172,777
—AMOIHS0HESHH 29 151,625,000 151,625
= 118,400
= 33,225
FoNEEE 0™ 846,200 0 846,200
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M FUMET] AL
g N =sd
SR InE EEET (el @
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
401 Al&HI YL SO 676,200 0 676,200
01 Al&H| 671,400 0 671,400
OFEIN MEBZ0IH 671,400
—WARE 2I22d 176,400, 000& 176,400
— &I =4 30,000, 000& 30,000
—ZASANF 465,000,000& 465,000
03 AlZ=20HHl 4,800 0 4,800
OoFEE EoMgzz o 4,800
—wWARE 222 E 1,200,000& 1,200
—AF(ZAIS D) 3,600, 000& 3,600
405 KHAHFESHI 170,000 0 170,000
01 MHARESF=H 170,000 0 170,000
OHNESS 40,000,000& 40,000
Ou++Y 100,000, 000& 100,000
Odlg & JIAM 30,000,000& 30,000
HBMN=F 36,028 94,856 A 58,828
201013HHI 012 26,028 38,556 ~12,528
201 LEH2 | 7,728 14,256 N6,528
01 AtE22/Hl 6,000 10,800 A 4,800
Ogt=2H| 6,000
—OJtHI0l =2 EES(EAHE)ME 900, 000& »62] 5,400
—OFJOI0l 22 da= M 100,000& * 63l 600
02 Z&E=2Z34l 1,728 3,456 A1,728
Oz332= & HAl 1,728
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ZOIME XY
NEEPEI
NESN - FAY el chel &
SA - B . el (3) & oy e =2
—=22= M& 1,500
S 50,000& * 100H 500
EESHE 2,000& » 5005 1,000
—RSAE Ry =S 10,000& * 1504 1,500
—SEHSAE L THHAME MYIISE X 10,000& * 7004 « 8& 5,600
—0golasE & ZEXE S M 200,000& * 6074 2 12,000
—28 AQlY SAE SA2 MYdlsS 5,000& * 10004 2 500
—ESAE SAZE MAIE 82X I+ 30,000& * 200K 6,000
202 O4Hl 4,200 4,200
01 ZLHoiHI 4,200 4,200
OfIMpI8 2z 20,0002! * 3% * 72 * 108 4,200
301 LetEas 6,760 3,800
12 JIEtEA S 6,760 1,800
OAHIX KIMBA(AME , BS)8s & 30,000& = 11F = 103l 3,300
ORESHAME(HLIISAS) dNxH 200,000& = 5A 1,000
ORIESALA 2tE3l HAX AdHl2Y 10,000& * 60 = 23l 1,200
ORESAEYF S & d8 2HES 20,000& * 63% * 13l 1,260
307 212t01& 5,000 0
02 BIHANEX 5,000 0
OAMEFZSNE ALl X~ 5,000,000& 5,000
402 SI2HXHE01H 20,000 10,000
01 A2 EX 20,000 10,000
OZdsa=M & szl N3 20,000,000& 20,000
z 1,942,240 479,884
= 895, 127
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249,122
695,521
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HH1HD W

,942,240

895,127
102,470
249,122
695,521

479,884

1,462,356

W
W
ry
H
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M H1 AL

598,540
102,470
162,000
334,070

435,340

163,200

101

M H1AD

593,260
102,470
162,000
328,790

431,260

162,000

04

593,260,000

RURINE!

593,260

593,260
102,470
162,000
328,790

431,260

162,000

201

1,680

1,680

01
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for
0t
x
1
00

0

70,0008 * 6% = 43

1,680
1,680
1,680

1,680

202

3,600

2,400

1,200

01

50,000& » 2& » 33| » 123

3,600
3,600

2,400

1,200
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- EHRI(E) - NIRAY -

i
0z
Jo

>
12

2 (A
R
J2H

Ol

XI oAl Qf XHR 34,300 44,544 A10,244
= 17,150
= 17,150

301 Yprza 34,300 44,544 A10,244
= 17,150
= 17,150

01 Atzl2 34,300 44,544 A10,244
OXl o 34,300,000 34,300
= 17,150
= 17,150

ZZol #HO 215,600 0 215,600
= 69,300
< 11,999
= 134,301

101 Q1A 215,600 0 215,600
= 69,300
= 11,999
= 134,301

04 JI2HH| 215,600 0 215,600
or=F 215,600,000 215,600
= 69,300
= 11,999
= 134,301

slg2z 28 ,093,800 0 1,093,800
= 808,677
= 75,123
= 210,000

101 Q14| ,093,800 0 1,093,800
= 808,677
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